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All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and
D. Section-A comprises of 8 questions of 1 mark each; Section-B comprises of 6
question of 2 marks each; Section-C comprises of 10 questions of 3 marks each anel
Section-I comprises of 10 questions 6}“ 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are

required to select one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question
of two marks, 3 questions of three marks each and 2 questions of four marks each.
You have to attempt only one of the alternatives in all such guestions.

Use of calculator is riot permitted.
Section-A

Question numbers 1 to 8 carry one mark each. For each question, four alternative
choices have been provided of which only one is correct. You have to select the
correct choice.
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— 1n decimal form is -

8

(A) 0.125 (B) 0.0125 (C) 0.0375 (D) 0.375
The zeroes of the polynomical p(x) = 4x% — 12x + 9 are :
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j In the given figure if AABC ~ APQR
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The value of x 1s :
LG = u
(A) 2.5cm (B) 3.5cm
(€) 2.75cm M 3em
:4/ If x = a cosB, y = b sind, then b2 + a’y® — 22 is equal to :
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6{ Ifx=a,y=>bisthe solution of the pair of equation x — 3= 2 and x + y 4, ther

the respective values of @ and b are : K=ud = 3 'Y
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it The value of sin“60° — sin”30° is :
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8. The class mark of the class 10 - a5 is ¢

(&) 17 (B) 18
&E}/ 1t5 D). 15
Section-B

Question numbers 9 to 14 carry two marks each.

_ y Find the HCF of 255 and 867 by Euclid division algorithm.

APKR, /PKR = 90° and KR = 8 cm find PK.

If sinA = % find the value of 2cot?A — 1.

Find the mean of the following frequency distribution :

X% Sk

Find the guadratic polynomial whose zeroes are /9 and 2./2 .

\/w'. _If p, ¢ are zeroes of polynomial fix) = 242 — Tx + 3, find the value of p? + ¢°.
\@/ In the given triangle PQR, ZQPR = 907, PQ = 24 cm and QR = 26 cm and in

Class : 0-6 6 -12 12 - 18 18 - 24 24 - 30

Frequency : 7 5 10 12 6
Or

Find the mode of the following frequency distributions :

Class : 0-6 6-12 12 - 18 18 - 24 24 - 30

Frequency : i 5 10 12 5
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Section-C

Questmn numbers 15 to 24 carry three marks each.

*
Y,
‘}8./
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Prove that the sum of squares on the sides of I‘h{}mblls is equal to sum of squares
on its diagonals.

1 -3 .
Show that 5 and — are the zeroes of the polynomial 4x? + 4x — 3 and verify the

relationship between zeroes and co-efficients of polynomial.

s e
Express the number 0.3 178 in the form of rational number B
Find the value of the following without using rigonometric tables :

4[@:}5&{:2 59° — tanZ31° 1, 2
Btan 45°

cos50°
25'11145}"

% ¢an12°tan78°sin 90° -

Find the value of b for which (2x + 3) is a factor of 9% + 9> —x - b.
Using graph, find whether the pair of linear equations 3x — 5y = 20, 6x — 10y + 40=0
is consistent or inconsistent. Write its solution.

Or

Solve for x and y !

5 1

}l_

2=2,Where xxl,y#2

If the mean of the following distribution is 27, find the value of p :

Class : 0 -10 10 - 20 20 - 30 30 - 40 40 - 50

Frequency : 3 p 12 13 10

If the areas of two similar triangles are equal, then prove that they ar
congruent. '

Or
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In the given figure, two triangles ABC and DBC lie on same side of BC such that
PQIIBA and PRIIBD. Prove that QRIIAD.

A D

B ¥ c

If 5in30 = cos(d — 6°), where 36 and 6 — 6° are both acute angles, find the value
of 6. |

Find mean, and median for the following data :
Class : 0-10 10 - 20 20 - 30
16 36

30 - 40 40 - 50
34 6

Frequency : 3

Section-D

Question numbers 25 to 34 carry four marks each.
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By Euclid division algorihm, show that square of any positive integer is of the
form 3n or 3n + L.

For what value of & will the pair of equations have no solution ?
x+y=1

2k—1Dx+(-1y=2k+1

Prove that (secA — tanA)* (1 + sinA) = 1 — sinA

Convert the following distribution into a “less than type” cumulative frequency
distribution and draw its ogive, Also find the median from the ogive.

Class :

0-10

10 - 20

20 - 30

30 - 40

40 - 50

a0 - 60

Frequenecy :

T

10

23

a5l

6

3

What must be subtracted or added to p(x) = 8x* + 14x® — 2x® + 8x — 12 so that
4x? + 3x — 2 is a factor of p(x) ?

Or
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Solve for x and y

133x + 87y = 353
and  87x + 133y = 307

In AABC, P and Q are the points on the sides AB and AC respectively such that
PQ is parallel to BC. Prove that median AD drawn from A to BC bisects PQ also.

Or

d/fn/ an equilateral AABC, AD1BC. Prove that 3AB2 = 4AD?.

54

4
o
3T

IXBEYN

If sin® + cos® = m and secO + cosecd = n, then prove that n(m~

Prove that the ratio of the areas of two similar triangles

the squares on their corresponding sides.

Prove that :

cos

sin

1—tan@

1-cotd

= (cos 8 +siné)

Find the value of f; from the following data if its mode is 65 :

2_1)=2m.

is equal to the ratio of

(Class :

0 - 20

20 - 40

40 - 60

60 - 80

80 - 100

100 - 120

Frequency :

6

8

h

12

6

S

=
Where frequency 6, 8, f, and 12 are in ascending éder,
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